IIL. (13 pis) Write a definite integral representing the volume of the
region, using the slice shown. Evaluate the integral exactly.
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IV. opts) Set up and compute an integral giving the volume of the

solid of revolution bounded by y = z?%, the z-axis, z = 0, z = 3, rotated
about y = 10.
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V. gspts) Find the area of the region that lies inside the circle r =1
and outside the cardioid » = 1 — cosé.
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VI. @opts) A rod of length 2 meters and density 6(z) = 3 — e
kilograms per meter is placed on the z-axis with its left end at the
origin. Find the center of mass of the rod.
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VIIL. (4 pts) A tank has the shape of an inverted circular cone with
height 10 ft and base radius 4 ft. It is filled with water to a height of 8 ft.
Find the work required to empty the tank by pumping all of the water
to the top of the tank. (The density of the water is § = 62.41b/{t°.)
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VIIIL. (10 pts.) Dec1de if he Tinct 3 giﬁ d s a probability deI{sﬂ;yQ - 9‘4 lﬁ.)
function (pdf) or a cumulative distribution function (cdf). Give rea-

sons. Find the value of ¢. Sketch and label the cdf if the problem shows
a pdf, and the pdf if the problem shows a cdf.
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IX.opts) Let p(t) = 0.1¢7% be the density function for the waiting:
time at a subway stop, with ¢ in minutes, 0 <t < 60.
a). What proportion of people wail at a subway stop between
0 <t < 20 minutes?
b). What is the mean time for a person to wait at a subway stop?
¢). Compute the median of this distribution.
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MTH - 142 K

Name: | Student-ID:

Sectlon Instructor'

SHOW ALL YOUR WORK' NO WORK-NO CREDIT' |
NO CALCULATOR!I!, NO NOTES!

I. (12 pts) Investigate if the sequences below converge or diverge. Find
the limit of each convergent sequence. If the sequence does not converge
explain why is that.
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I1. 12 pts) Determine whether the series is convergent or-divergent; If-

it is convergent, find its sum.
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